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HXS—2 BEYICHERYTILBESNIEEICETHEEU/1) REEE | PksEE
[ RENEONE | BMES 01251006 [ EiE | AL [ e | B B2 L2 7 TN
- AR D TIRIZlEET 51 i SMERR
B4 TREDBIODBHILNDKRES TEEFDEEFSENDKRES TRZFENBBOESLNDOKRES TREDHERILNDKRES
] 100kN/m#E#B 25 — -~ = —|amE8Bz3| — ~ — — — | 100kN/mi%#B %% — — ~ — —|amzE#EZ% — ~ — — —
Zzh st 1.00 | 000 ~ 477 59.50 | #hst | 000 ~ ooo| 1.73 877 zhust 1.00 | 5.00 ~ 5.00 59.50 | #hds | .00 ~ 500 1.73 877
2 100kN/m#E#B 25 — -~ = —|amE8Bz3| — ~ — — — | 100kN/mi%#B %% — — ~ — —|amzE#EZ% — ~ — — —
Zzhn st 1.00 | 0.00 ~ 491 61.22 | FhUs | 000 ~ 491 2.06 10.41 zhust 1.00 | 5.00 ~ 630 61.22 | ZnS | 500 ~ 630 206 10.41
3 100kN/m#E#B 25 — -~ = —|amE8Bz3| — ~ — — — | 100kN/mi%#B %% — — ~ — —|amzE#EZ% — ~ — — —
zhst 1.00 | 000 ~ 327 41.67 | #FhUUS | 000 ~ 327 254 11.84 zhust 1.00 | 5.00 ~ 560 41.67 | Fhst | 500 ~ 560 | 2.54 11.84
4 100kN/m#E#B 2% — -~ = —|amE8Bz3| — ~ — — — | 100kN/mi%#B %% — — ~ — —|amzE#EZ% — ~ — — —
Zzhn st 1.00 | 000 ~ 493 61.39 | Fhs | 000 ~ 493| 213 10.79 zhust 1.00 | 5.00 ~ 688 61.39 | Fhst | 500 ~ 688 213 10.79
5 100kN/m#E#B 2% — -~ = —|amE8BzB| — ~ — — — | 100kN/mi%#B %% — — ~ — —|amzEEZ3 — ~ — — —
zhst 1.00 | 000 ~ 661 8343 | #hids | 0oo ~ ooo| 1.67 8.42 zhust 1.00 | 500 ~ 810 83.43 | #hst | 500 ~ 810 1.67 8.42
5 100kN/m#E#E 25 — -~ = —|amz8Bz3| — ~ — — — | 100kN/miE#B %% — — ~ — —|amzE#EZ3 — ~ — — —
Zzh st 1.00 | 000 ~ 757 96.93 | #hidst | 0oo ~ 757|219 11.05 zhust 1.00 | 5.00 ~ 10.00 96.93 | #hds | 5.00 ~ 1000| 219 11.05
7 100kN/m#E#E 25 — -~ = —|amz8Bz3| — ~ — — — | 100kN/miE#B %% — — ~ — —|amzE#EZ3 — ~ — — —
Zzhn st 1.00 | 0.00 ~ 489 60.96 | FhUs | 000 ~ 489 219 11.05 zhst 1.00 | 500 ~ 728 60.96 | Fhst | 500 ~ 728|219 11.05
g 100kN/m#E#E 25 — -~ = —|amz8Bz3| — ~ — — — | 100kN/mi%#B %% — — ~ — —|amzE#EZ3 — ~ — — —
Zhst 1.00 | 0.00 ~ 536 66.91 | FhUS | 000 ~ 536)| 213 10.74 zhst 1.00 | 56.00 ~ 763 66.91 | Fhst | 500 ~ 763\ 213 10.74
9 100kN/ Mm% 2% — -~ = —|amz8Bz3| — ~ — — — | 100kN/mi%#B %% — — ~ — —|amzE#EZ3 — ~ — — —
Zhst 1.00 | 000 ~ 464 5787 | Fhst | 000 ~ 164 | 1.86 9.38 zhst 1.00 | 5.00 ~ 5.00 57.87 | #hs | 600 ~ 5.00| 1.86 9.38
100kN/ Mm% 2% ~ 3mEEZ5 ~ 100kN/m%E#B % % ~ 3mEHEZS ~
Zh st ~ Zh st ~ zh s ~ Zzh s ~
100kN/m#E#B 2% ~ 3mEEZ5 ~ 100kN/mM%E#B % % ~ 3mEHEZS ~
Zh st ~ Zh st ~ zh s ~ Zzh s ~
100kN/m#E#B 25 ~ 3mEEZ5 ~ 100kN/mM%E#B % % ~ 3mEHEZS ~
Zh st ~ Zh st ~ zh s ~ Zzh s ~
100kN/m#E#B 25 ~ 3mEEZ5 ~ 100kN/mM%E#B % % ~ 3mEHEZS ~
Zh st ~ Zh st ~ zh s ~ zh s ~
100kN/m#E#B 25 ~ 3mEEZ5 ~ 100kN/mM%E#B % % ~ 3mEHEZS ~
Zh st ~ Zh st ~ zh s ~ zh s ~
100kN/m#E#B 2% ~ 3mEEZ5 ~ 100kN/m%E#B % % ~ 3mEHZS ~
Zh st ~ Zh st ~ Zh s ~ Zh s ~




